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Moro Simulation Gruppe 1

Prot1

Feit Jahr Info Massnahme|Art Massnahme
1. Jahr 11 o MAKT 1 MAKT 1 MIOT O 4 MIKF 25 MIKE 1
2. Jahr 1] 0
3. Jahr 2 2 kD 24000 hwE 200
4. Jahr 1 1 hkB 2
5. Jahr 12 3 hWE A0 % K T MIB 2

0:59 6. Jahr B G hl<hd 25 MM 75 MI<B 3 MIP 3 MDD B0000  MF S0
{. Jahr 4 1 hdsH 15
8. Jahr 4 2 h%F A0 his'H A0
9. Jahr g 4 h/H B0 MIKF 25 MR 25 Ml b 25
10. Jahr g o hAKD 100000 hwE A0 hw'H 100 MIOTOS MIOEB 3
11. Jahr 4 1 kLD S0000
12. Jahr 4 0
13. Jahr
14. Jahr
15. Jahr
16. Jahr
17. Jahr
18. Jahr
19. Jahr
20, Jahr
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Moro Simulation Gruppe 2

Prot?

Feit Jahr

Info

Masshahme

Art Massnahme

.Jahr
.Jahr
.Jahr
.Jahr
.Jahr
.Jahr
.Jahr
.Jahr
9. Jahr
10. Jahr
11. Jahr
12. Jahr
13. Jahr
14. Jahr
15. Jahr
16. Jahr
17. Jahr
18. Jahr
19. Jahr
20. Jahr
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WO O Wk

MkE 10
LA
Pl S0

MkE 7

Mk 50
flb D 224000
hilkB 3

/e, 100

MOE 2

h%R 100

bW 150

MP= 0.3




Moro Simulation Gruppe 3

2000
1400
—p— Hiederschla
—m—"_Flache
Grundwassy
1000 Rinder
== Helemtrag
——T5e-Tse
—t— [apital
——Fleischyarra
a0 Bevdlkerung
== Hirsevorrat
Hirseflache
Hirseertran
0 & e & A
17 18 19 20
-500



300

250

200

150

100

50

-&0

-100

Moro Simulation Gruppe 3
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Moro Simulation Gruppe 3

Prot3

Feit

Jahr

Info

Massnahme

Art Massnahme

0:58
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. Jahr
. Jahr
.Jahr
. Jahr
. Jahr
. Jahr
. Jahr
. Jahr
. Jahr

. Jahr
. Jahr
. Jahr
. Jahr
. Jahr
.Jahr
. Jahr
. Jahr
. Jahr

.Jahr
.Jahr

—

OOk R RO = =

flb<F 100
hP%R 3 00
tlbD 5 00

hP%R 100,00
k%R 100,00
fl bR 2200

WkBE 300 P 3,00

fP%'R 500,00
flbhd 15

OB 3,00
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Moro Simulation Gruppe 4

Protd

Feit

Jahr

Info

Massnahme

Art Massnahme
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fAkM S0
rAkF S0
MPEO,7
MKE 3

rA%'R 100

rkR &S00
M%WH 2 5
f%H 3,0

MEE 5
kB 10
f ki 220
fl*1< 125
MKE 5

MOT 0.4

MOEBS
MOE 10
Pl b<L 1
MPE D5
Pl T 1

Ml kD 1200

MlkH &
h%'R 200
t kD 5000
WP 2

MkE 2
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